Question One:
The following data reflect the choices of a major by a sample of size 200 incoming freshmen students.
	Increase in score 
	Number of students

	Engineering
	44

	Science
	26

	Education
	45

	Business
	60

	Arts
	25


Using significance level 0.05, is there sufficient evidence to conclude that the distribution of the major choices is not uniform?

Question Two:
A study published in the American Journal of Public Health was conducted to determine whether the use of seat belts in motor vehicles depends on ethnic status in San Diego County. A sample of 792 children treated for injuries sustained from motor vehicle accidents was obtained, and each child was classified according to (1) ethnic status (Hispanic or non-Hispanic) and (2) seat belt usage (worn or not worn) during the accident. The number of children in each category is given in the table below.

	
	Hispanic
	Non-Hispanic

	Seat belts worn
	31
	148

	Seat belts not worn
	283
	330


a. Referring to these data, which of the following conclusions should be reached if the appropriate hypothesis is conducted using an alpha = .05 level?

b. What are the assumptions needed to perform the test in part (b)?

Question Three:
a) Consider a contingency table with two rows and five columns.

1) Find the degrees of freedom.

2) Find the critical value for ( = 0.05.

3) Find the critical value for ( = 0.01.

b) More shoppers do the majority of their grocery shopping on Saturday than any other day of the week. However, is there a difference in the various age groups in the proportion of people who do the majority of their grocery shopping on Saturday? A study showed the results for the different age groups (extracted from "Major Shopping by Day," Progressive Grocer Annual Report, April 30, 2002). The data were reported as percentages, and no sample sizes were given:
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MAJOR SHOPPING DAY Under 35

35-54 Over 54

Saturday

24%

28% 12%

A day other than Saturday

76% 72% 88%


Assume that 200 shoppers for each age category were surveyed.

1) Is there evidence of a significant difference among the age groups with respect to major grocery shopping day? (Use ( = 0.05.) 

2) Determine the p-value in (1) and interpret its meaning.

3) If appropriate, use the Marascuilo procedure and ( = 0.05 to determine which age groups are different. Discuss your results.

4) Discuss the managerial implications of (1) and (3). That is, how can grocery stores use this information to improve marketing and sales? Be specific.

Question four:
11, 12
The speed limits on highways are based to some extent on the variability of reaction times of drivers. The highway department assumes that the variability of drivers’ reaction times is 
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. A critic of the department’s policies argues that the variance is somewhat larger than this value. In a random sample of 100 drivers’ reaction times the following summations were computed:
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Can we conclude at the 1% significance level that the critic is correct?
Question five:
1. Two market researchers (A and B) were interested in studying the effect of advertisements on brand preference of new car buyers. Prospective purchasers of new cars were first asked whether they preferred Mercedes-Benz or BMW and then watched video advertisements of comparable models of the two manufacturers. After viewing the ads, the prospective customers again indicated their preferences. The results are summarized in the following two tables presented in parts (a) and (b) below:

a) Researcher A summarized the data in the following table:

	Preference before ads
	Preference after ads
	Total

	
	Mercedes
	BMW
	

	Mercedes
	94
	6
	100

	BMW
	14
	86
	100

	Total
	108
	92
	200


Using the above table, is there evidence of a difference in the proportion of respondents who prefer Mercedes before and after viewing the ads? Use α = 0.05

Ho:                                 versus  HA:                                .    

Decision Rule:

Calculated Test Statistic:

Decision:

Final Answer (Conclusion):

b) Researcher B summarized the data in the following table:

	Preference 
	Manufacturer
	Total

	
	Mercedes
	BMW
	

	Before ads
	100
	100
	200

	After ads
	108
	92
	200

	Total
	208
	192
	400


Using the above table, is there evidence of a difference in preference for Mercedes before and after viewing the ads? Use α = 0.05.

Ho:                                 versus  HA:                                .    

Decision Rule:

Calculated Test Statistic:

Decision:

Final Answer (Conclusion):

c) One of the methods in (a) and (b) above is incorrect. Which method of analyzing the data should you use? Explain Why?

_1068486759.unknown

_1349342621.xls
Sheet1

				AGE

		MAJOR SHOPPING DAY		Under 35		35-54		Over 54

		Saturday		24%		28%		12%

		A day other than Saturday		76%		72%		88%






_990088065.unknown

_990088270.unknown

_990087673.unknown

